BREEHTEZFOMHERERRE GHERLF1—L40) 1/6
REHR - FRR28E1TATH (N) ~F 128511830 (k) (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
=o yalb sy mB FREHE (118) tymh134+137 (b994136+137)
ESES F—5 LRI L BB AHIET 17H (K) A& 7.7
EES HhJ BB LI T AHET 4H(R) NS 12.8
FIESES ARF+ L™ TH(B) A& 7.2
AEES ARF+ L™ 98 (7k) A& 11.5
HEES FrRY EBAEN 28H(B) NS 10.1
[HEES F Y — AT 8H (N) A& 10.2
HESES dRD BT =#EEHET\E | 2H (k) A& 7.7
HEES YYYTE BUHEAHITRERER| 7TH(B) A& 7.0
CEES HYYME S LR BT 2] [ 28H(B) ESEE 11.0
[NEES HIVALE a8l 25H(£) ESEE 7.0
(KEES Yh1E TEEBAEN 28H(8) A& 8.9
(HEES Yh1E i, A8 =R IR T 158 (N) A& 9.3
13|59 Yh1E BILMERATZHE | 2H(K) A& 7.3
IAEES Yh1E BB LI AHEET TH(B) A& 6.1
(HEES Yh1E EB LT AHEET 10H () A& 7.4
IBEES Yh1E LR EHBT 2] | 18H (&) A& 8.8
(HEES Yh1E 8L HAOERET 16H (k) A& 6.4
[EIEES Yh1E LU =fHETLO | 2158(8) A& 9.3
[EIEES Yh1E ag|llm 1H(N) A& 8.5
EES Yh1E BE™ 15H (X) A& 12.9
IEES Yh1E REEER) A 21H(8) 3.9 10.9
22| B35 Jvr A1 E B LmhZzfamT H L | 308 (k) 9.7 6.2
23| B35 Jvr A1 E BE™ 158 (X) NS 8.3
A ESES EVEY] TERAEN 28H(B) NS 11.9
25| FF52 EPE; WEEEB) AT 21H(B) T 11.0
P EES 743V TERAREN 28H(B) T 5.6
Y EES 743V AR =EIR FE] [ 15HCN) NS 5.7
K EES 43 EB LI AHEET 1H(N) A& 11.4
LIEES 43 EB LI AHEET 4H (&) A& 1.7
ENEES 43 EB LI AHEET 4H (&) A& 6.2
31[Fp5 ERt=V BB LT AT 16H (7k) NS 5.2
32| B3 ERt=P BB LT AHEET 18H (£) IS 13.9
33|83 ERt=P BB A~ HT 158 (N) IS 8.6
A ESES ERt=V ELTHNITEE TH(N) NS 4.9
35| Fp5 ERt=Vi 8L ERET ]I | 28H(B) & 7.5
36|53 ERt=P 8L HANERET 158 (N) IS 7.2
Ry ESES ERt=V ERIL T =FEHETJITH [ 2985 (K) NS 8.6
38| EEE=P] —AKTH 8H(N) & 10.0
39| Fp5 ERt=V K= 18H(£) NS 19.2
MEES ERt=V SR | O] 258 (£) NS 7.2
INIEES Y14V () |ZFWmm 8H(KN) NS 12.1
Y ES ERNESs BB L mhEEx 158 (N) IS 5.7
43|83 FTAHAE BB LT AT 2H (7k) NS 7.7
M EEES FTAHAE BB LT AT 4H (&) NS 7.1
S EES FAHAE BB LT AT 10H (°K) NS 9.5
46| BP3 FTHAE BB LT AT 258 (£) & 7.2
N EES FTHAE EBLLTIR 14H(8) NS 10.0
I EES FAM1E a8)lm 158 (N) & 7.7
CIESES EXF LM ERITZHE [ 11H(2) NS 9.0
I EES EXF ERLTH=FEHEA]JIIH] 1H(KX) & 10.4
IEES EXF —AWTH 29H (N) & 11.1
52| ¥R EXF BEER 18H(£) NS 10.6
53| Fp3 —VIY BB LT AHEET 18H(£) & 1.4
AEES —IY a8)lm 22H(N) & 11.6
L ESES NTTA TEBAEN 28H(B) NS 8.0
Y EEES NTTA B ERITZHE [ 17H(K) & 9.2
iEES NITA BB LT AHEET 4H(E) & 7.8
S ESES NITA EBLL T AT 15H (N) T 5.7
S EEES NITA BB LT AT 28H(B) T 8.7
[QEES NITA BB LT AT 29H (N) T 8.0
FEES NITA BB 1L /8] 158 (N) T 9.9
62| NITA ELTHNITEE TH(CN) T 16.2
63|53 NITA BT SR EHET 28H(B) & 9.0
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BREEHTEZFOMHERERRE GHERLF1—L40) 2/6
REHR - FRR28E1TATH (N) ~F 128511830 (k) (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
== AH7>7-3Y mB FREY (118) Y94h134+137 (b94134+137)
[AEES N4 8L HADERET 1H(N) A& 6.7
65|53 N4 8L HADERET 25H (&) A& 7.0
66|32 Nk ELLUHHAMEENATE| 21H(8) A& 5.0
FEES NTHA N N 29H (N) ESE 11.4
68|32 N4 SR ESIEEFEIENT | 248 (K) A& 6.5
[LIEES NTTA A= 18H(£) T 7.2
70|55 N4 ES BB R ea (L HT 165 (7k) A& 7.8
IKEEES Nk B8 ERE en (CHT 16H (7k) A& 8.7
IAEES JOvaU— [7B&]llm 21H(B) ESEE 11.0
EIEES KoLV D £81L T H A0 BT 30H (7k) A& 15.6
IAEES =IF TERBAEN 28H(B) T 9.3
[HEES =IF EBLLI T A HET 16H (7k) T 7.6
76|5532 -3V BB LI AHEET 18H (&) A& 7.0
7Tk GiEk. B=kx®) [FHFEK B L EHATET L R 7H(H) A& 8.4
8[LE - D [FI XY NGRS 28 (k) 4,544 .6 15.6
I - =0FE [FO XY (@) [BRLHEREE] 4B (£) 1,670.3 23.1
NERERACPEY: 3L E T A 7H(H) 58.7 12.9
IR A PDER: EB LM 0 A 8H (N) L7.6 14.1
ANEREIACPEY: ELLFERIDTA | 21H(A) 102.9 8.9
LEINERE A PEER: LT E BT 2 HEF | 25H (&) 148.3 11.0
TANEREDD M APEER: 8L L AT BT <FLL 4H (&) 72.3 16.3
85|lUxE - = (v VUSS (zn) [BRLUMEEEIZHE [ 7H(B) 17.1 8.3
86|l - =D CFE [P UST (Z0) |[ERmER B BT 98 (K) 24,6 8.0
87[lIE - =D CFE [P US T (1) |[ERRFEREREH] 148 (B) 69.7 10.6
ENERER PR HA ™ 22H(N) 41.9 8.2
[FE - =DCHE [V XY (Zn) 8L FaEHET 21H(B) 19.3 5.9
WNFE -=DZHE|[VEIY BB LT Zh B h] 10H (K) 452.0 12.7
MLE - =D [VETUI XY [ERLTHEEHT 148 (B) 5,919.1 15.8
RE- - =DCFE |[vE7UVXY (@) |BRREREmich] 98 (7k) 104 .4 8.7
CEINERER:APEPES) S2MA 15H (N) 465.1 11.6
ANEREDLI:IPIPEPI B EREITZHE | 1HC 414.8 15.0
CHNEREIAPEPED, I 4LH () 106.8 8.8
ANERE R APEPED, L EHATET<FLL 4LEH () 2,282.5 10.3
o[l - EDCHE (YOI XD —AKTH 118 (£) 640.5 17.7
I NERE R APIEPED, B8R e O] 8H(N) 3,202.4 15.1
CINERE R APIEPED; B8R e O] 24 (R) 580.6 9.1
100[LE - EOCFE OV XY (Zn) [BRLUMHENEER [ 158B(N) 48.6 7.0
101 - O O XTI (&) |BE]h 108 () 88.0 6.9
12[ILE - TR [AF55 (7n) [HmMEREm ] 9H (7k) 112.2 8.8
103|3E « EDOCE [FrF X VLY T B EREIA 98 () 484 .6 11.9
MANERER R AEES RGN 148 (B) 13.2 9.9
105[LZE - EDCFE [F X3 RGN 16H (7K) 16.0 7.5
106|132 - EDQCFE [F X3 B ERITZHE [ 158 CX) 160.1 9.8
107[LZE - T CFE [F X3 B8R e O] 16H (7K) A& 11.8
108[ILE - T CFE [F X3 B8R e O] 28H(B) 13.2 6.7
109[ILZE « D38 [XxUZF55E R+ |[HRMENEm OB 7H(H) 64.3 11.0
MO[ILZE - EDQCE [N\NIFT I XY |ERILThELEE LB () NS 17.1
MIE - OB (ESHFT B EFREITZHE [ 165 (0K) 17.2 1.4
MUE - OB (ESHT A= 118 (£) 114.0 15.9
MB|E - FEQF[RIXD BILTiBmBT e [ 18H(®) 28.3 14 .1
MG\ - T Ry X (&) BRI E RN 14H(8) 109.1 13.7
15|z - EDH [ LF5T SEEINT 28 (K) 30.7 5.5
16|32 - TN [ LF5T SEEINT 28 (K) 36.1 5.5
NIz - DO |[LF5T EZAM 118 (£) 102.3 14 .1
18| - EDCHE [ LF5T EZhAm 14H(8) 32.2 10.7
M| - EDCH [ LF5T BB LT Zh EHT TH(CN) 113.1 14.3
1203 - EDCF [ LF55 BT EREITZHE [ 158 (X) 82.0 11.0
1IE - DO |[LF5T I ) TH(CN) 37.0 12.7
122 - EDZF [ LF5T B8R s e (O] 4H(R) 15.9 9.4
123 - EDH|[LF5T B ER 1R AT 28 (K) 56.2 8.4
1 ILE - F0CE [LF55 (Zn) |[&FERT 16H (7K) 15.4 8.6
125|ILE - TR [LF5T (Zn) [BEH 21H(B) T 8.6
126[lLF - TR [LF55 (Zn) [ERILTHEER 11H (&) 26.9 6.3
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BREETESORMEBERERR GERELF1—L) 3/6
REHIR - ERI28E11B1H (N) ~FRE285E118308 (k) (BN @ N 9LIb/kg)
=1 — = o BR&EH . BHRRESET
g=| P73V i E PREXH (118) €79k 364137 (£94134+137)
RINWE - EDCFE [ LAF55 (2n0) |ESMEREEE] 21H(B) ESE 13.0
128|lU% - EDCFE [ LAF 55 (zn) |ERMERFER ER] 28H(H) ESE 11.8
19LE - EDQCFE|LF55 (Zn) |HRRAEPERSH] 148 (8) 16.9 5.3
130[I3 - TOCFE [LASTFI XTI [EBLHGBMNEINATB| 48(&) 378.6 14.5
131[@N3E >O0F WNEEBILEFH] 21H(B) NS 11.5
132|@N3a —IYR SRR R R 7H(H) ESE 5.4
133|R=E AES S BEREIR ] 28 (k) T 8.7
(EAEES kS L™ 98 (7k) A& 9.1
135|R=E AES LT 98 (7k) NS 10.3
136| 5 kS L ZiEH] 15H (X) A& 7.2
137|R=E AES L =ZIER] 5 24H (K) T 9.2
138|RE AES L =ZIER] 5 24H (K) T 9.5
139|5E= kS B ZiamT ) || 1H(N) A& 5.4
140|RE AES BT ZEIIEAR | 4H(R) T 7.8
IRIEES AES LR EEZFE | 1TTHOK) T 9.5
1462|RE AES ELLTEHIIZHE | TH(A) NS 5.8
143|RE AES BB LI T A HET TH(N) 9.3 8.0
144|RE AES EBLLI T A HET 48 (&) T 7.2
145|582 kS BB LT AHEET 9H (7Kk) A& 8.1
146|RE kS EBLLI T AT 148 (8) A& 7.7
IEES VAES BB LT AT 148 (8) T 6.3
148|RE VAES BB LT AT 145 (8) 10.9 7.1
149|RE VAES BB LT AT 16H (k) NS 6.5
150|R=E VAES BB LT AT 188 (2) 11.0 7.3
151|RE VAES BB LT AT 215 (A) 7.6 7.6
152|RE VAES BB LT AT 25H(2) T 14.6
153|RE VAES BB LT AT 25H(2) NS 9.1
154|RE VAES BB LT AT 25H(2) T 5.9
155|R=E VAES BB LT AT 30H (k) T 9.5
156|R=E VAES BB LT AT 30H (k) NS 9.0
157|R=E VAES BB LT AT 145 (8) 11.1 9.7
158|R=E kS 8L TR AR 98 (K) 10.8 7.0
159|R=E AES 8L TR AR 17H(R) NS 7.6
160|R=E kS 8L TR AR 17H(R) NS 10.1
161|R=E kS ELLHEAM 21H(B) & 6.4
162|RE AES ELLHEAM 21H(B) NS 7.2
163|R=E kS ERLLI™ AT 17H(R) NS 9.7
164|RE kS ERLLI™ AT 188 (2) & 7.9
165|R=E AES ERLLI™ AT 21H(B) NS 7.9
166|R=E kS ERLLIT AT 8H(KN) NS 6.0
167|R%E RS L EH 17H (K) A& 8.8
168|R=E VAES ELHEH 21H(B) NS 9.9
169|R=E AES 8L = A HHE] 8H(KN) NS 7.6
[IEES VAES BLUTEXEEEA| 45 (E) 9.9 6.6
171|8RE RS BUTEAHIECHN| TH(B) AR 7.8
172|8RE RS BLUHEAHITEREER| 7TH(B) AR 5.5
(NEIEES kS BRI 28 (k) NS 12.0
(IAEES kS BB ARAT LB () & 8.7
175|R=E kS BB ARAT 25H(£) NS 7.4
176|R=E kS I IGE= i 14H(8) 7.4 5.5
IHEES kS BB AT BT A 8H (N) & 7.0
178|R=E RS BB EHATET /I TH(B) AR 9.4
179|8= hF BLHEHNETER  [14HB) IS 9.3
180|R=E kS ELHHENITER | 28H(8) & 6.2
181|R=E kS ELTHHNEIES B | 8H(KN) NS 7.6
182|RE kS B8 AT BT LR 2H (7k) & 6.7
183|RE kS ELTHMNEIEE [ 11H(R) & 6.3
184|RE kS ESLLTREHAETSFLL | 30H (k) T 6.5
185|5RE AES ELLUmHENBETAEHEII ] TH(B) AR 8.2
186|5RE AES LU EHFTETHEI 1 | 30H (9K) AR 5.3
187|R=E kS L= HET TH(N) 7.6 7.5
188|R=E pAES B HANEHET 25H(2) T 7.9
189|R=E pAES B HANEHET TH(N) & 6.9
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BREEHTEZFOMHERERRE GHERLF1—L40) 4/6
REHR - FRR28E1TATH (N) ~F 128511830 (k) (BN @ N 9LIb/kg)
B — o o ®RER X BERRESE
=o yalb sy mB FREHE (118) tymh134+137 (b994136+137)
190| £ kS 811 HF0 BT 1TH(CKN) 12.7 7.1
191|5R%E kS 8L HADERET 2H (7K) A& 5.7
192|RE hF 3L H AN ] 4H(R) NS 9.8
193|5E=E kS 811 HA0 BT 4H (&) A& 9.9
194| R kS 8L HADERET TH(B) A& 8.3
[EHEES kS FILHHMNHETSE | 8H(N) A& 9.9
196| R kS EBUHHANBEITSE | 146(8) A& 6.1
197|R=E AES BLUBBEMEENATE| 7H(B) T 6.0
198|R=E AES BLUBBEAEENATE| 7H(B) NS 7.8
199|R=E hF LU= ALLB] 8H (KN) NS 11.5
200[R=E hF ag)lm 14H(B) 10.8 8.5
201|R=E hF a8l 17H (R) ESEE 8.2
202|R=E hF a8l 22H(N) ESEE 7.4
203|R=E hF ag)lm 4H(R) T 7.5
204|R=E AES HA™ 28H(8) T 8.4
205|R=E AES — AT 7H(B) NS 7.0
206|R=E AES = 28H(8) T 7.2
207|R=E AES = 18H(£) T 8.2
208| &= AKX a8l 21H(B) ESEE 11.3
209|R=E hUuYv BLLUHEREITZHE [ 17H(K) A& 7.0
210|R=E hUYv BB LT AHRET 10H (K) T 9.7
211|R=E hUYv 8L Lh = FHET 17H (K) T 5.7
212|R=E Fo4 BB 2T 113 (&) NS 8.9
213|R=E Fo4 BB LT AT 25H (£) NS 5.6
214|R=E Fo4 BB LT AT 29H (N) T 7.4
215|R=E Fo4 EILUTHEANBEIER [ 14H(B) T 11.0
216|R=E Fo4 EBLLI T A0 E] 16H (7k) NS 7.8
217|R=E Fo4 LT HMBEISE | 21H(B) 12.8 7.4
218|R=E Fo4 FHEm 7H(B) 11.0 5.0
219|5R = I+ FZEmh TH(B) A& 12.7
220|R=E I+ —_ AW 29H () A& 7.9
221|R=E Fo4 WNEES N 158 (N) NS 7.4
222|RZE IR BB LT AT 7H(H) 98.8 12.8
223|R=E IR ESLL T ] 16H (7k) 10.6 8.1
224|RE IR EBIUTHENETEE [ 11H(®) & 8.3
225|R=E IR ELLUTENBEIETE [ 15H(X) 12.6 8.9
226|R=E IR A= 14H(8) NS 12.0
227|R=E 1) B8R e O] 258 (£) & 9.7
228|R=E L= BB = HET TH(KN) 33.3 10.7
229| 8= H50 EIG=¢ 148 (B) 6.3 6.2
230|R=E I\ Z )LD — BRI AHE] 14H(8) NS 5.9
231|R=E =hYV BB = HET 215 (A) NS 7.2
232|R=E LN ERLLTHET R 22H(N) NS 8.6
233|R=E 1X TEBAEN 28H(H) NS 11.9
234|R=E 1X B LhZEiE T 25H(2) NS 7.7
235|R=E 1X BB LT Zh EHT 22B (N) & 8.7
236|R=E 1X LM ERITZHE [ 11H(2) NS 9.5
237|R=E 1X BB LT AHEET 298 (N) & 7.6
238|R=E 1X BRI 2B (K) NS 9.7
239|R=E 1X G =E=] 22H (N) & 9.1
2L0|RE 11X BT EHANBTH S B | 25H (£) & 7.2
NIEES 11X EBILUHHENIIAEST | 4H(&) NS 9.6
2L2|RE 1X 1L = HET 218 (8) 9.9 9.3
243|RE 1X 1L = HET 17H (K) & 8.9
IMAEES 1X BB\ H AN E] 7H(H) NS 12.0
245[RZE a1X EILUHEALLBTARE| 16H (7K) AR 9.3
246|RE a1X ag)llmh 21H(B) 16.1 9.5
2LT|RE 1X a8a)llm 28H(B) T 11.0
2L8|RE 1X ST 21H(B) 38.3 7.9
249|RE >3 BE™ 30H (7K) T 8.4
250 F Dt 52 L E#ET Z HE [ 305 (k) T 8.4
251 fb 52 BB LT AT 21H(B) T 7.8
252|F b 52 BB LT AT 28H(B) & 8.8
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BREEHTEZFOMHERERRE GHERLF1—L40) 5/6
REHR - FRR28E1TATH (N) ~F 128511830 (k) (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
=o yalb sy mB FREHE (118) tymh134+137 (b994136+137)
253|F Dt NG BB &R 2 HEF | 30H (k) A& 8.4
254 F Dfb =] BB LI T AHET 258 (£) NS 8.8
255|F Dtk =] BB LI T AHET 28H(B) NS 8.8
256|F Dk =] LT HNHEE =2 [ 21H(8) NS 5.5
257| F D fh 1453 BT EANETER 2H (k) NS 8.6
258| Z D fh BH LT N EHT 17H(K) 178.7 7.2
259[ Z D fth ER ELLFERIDTA | 14H((B) 35.4 5.8
260| Z D fb EAR ELLTERIIZHE | TH(A) 175.3 5.4
261|ZDfb EAR ESLLTERETZHEF | 9H(K) 103.2 6.0
262| Z Db EAR B EREITZHE [ 22H(CX) 81.9 5.6
263|Z D fb EAR BLLEFEITZHE [ 295X 40.7 5.2
264| Z Db B+ R ER B | T 258 (£) T 10.8
265| Z Dtk T~ B EFEITZHE [ 22H(CX) T 12.4
266|Z Dk T3~ =G 10H (R) T 11.5
267|Z Dk AF (GENE)  [BRLHIR 14H(B) T 10.0
268|Z D fb BEY 31 H AN ] 16H (7k) NS 9.0
269| Z Dtk R B EREITZHE [ 17THOKR) T 8.8
270| Z D fh R EBLLI T A HET 22B (N) T 12.4
211 Z Dk R 2B LI FE BT 25H(£) 10.8 10.5
22| Z Dk ¥R BT H AN BT 15H (N) 21.0 7.3
213| Z D fh MR HA ™ 22H(N) T 8.2
21L|Z D MR A= 25H(2) 16.1 8.1
275| Z D gLy ERmER A | T 28H(H) & 23.9
276| Z Dk d955 (188 |BNT 30H (7k) 361.0 8.2
277|F Dfth Ksbh BUTEAHITERR| 4H(E) A& 14.6
28| Z D fth IV =+ 7\WE BRI ARRE] 7H(B) T 8.4
219 Z Dk Vv 0% |BIUTHENEISE [ 18H(R) & 4.5
280[F Dtk Vv o0E [BILmHENETSEREI] 95 K) ISR 6.0
281 ZDfb vvs (N o~u—) (BRI SEE] 25H (£) T 1.4
282| Z D fb EE BB LT AT 18H(£) NS 13.4
283[Z D fh EE 3L LT EH 17H(R) NS 14.0
284 Z DR EE EIG=¢ 15H (N) 25.8 8.0
285|Z D fth EE EIG=¢ 16H (7k) NS 7.4
286| Z D ftb A2 B ERITZHE [ 11H(2) NS 8.9
287|F nfth K2 BB 1L A3HE] 298 (N) IS 8.7
288|Z D ftb = BB\t HAN BT 298 (N) NS 11.2
289(Z D ftk = LT HNEESE [ 215(8) NS 5.4
290| Z D ftk = ERIL T =FEHETJITH [ 295 (K) & 8.7
291 Z b FHib ESES a0 25H(£) IS 9.3
292| Z D fb T TEEBAREN 2B (K) NS 10.2
293 Z D fb T 8L 24H (AK) NS 10.0
294 Z D fb T LR ZERIRRE | 22HCKX) NS 7.5
295| Z D ftb T LT EENZFE | 25H(R) NS 7.2
296| Z Db T LR EERTEE | 30H0K) NS 6.1
297|Z Dfb T BB LT AHEET 215 (A) NS 7.6
298| Z D ftb T BB LT AHEET 24H (K) & 6.0
299[Z D ftk T BB LT AT 248 (R) 12.6 10.3
300{ Z D ftk T BT HMNBEI AR | 28H(B) & 9.5
301 Zfk T ESLLUTHEME/IIT [ 21H(B) NS 10.9
302|Z D fk T ELTHMNEIEE | 30H0K) & A
303[Z D fk T BT HARTSFLL | 30H (k) & 7.7
304 Db i B HAEENATB| 288 (H) IS 5.3
305|Z D fk T ST =FEHABTJIIH | 295 CX) & 7.9
306| Z DR T a8)lm 258 (£) & 6.1
307|Zfk TYRU BLUHEREIIA [ 11H(R) 12.7 7.7
308[H28 =K K (%K) BB LT AHEET 98 (7k) & 8.3
309[H28 =K K (%K) HA ™ 4H(E) & 8.5
310[H28 =K K (%K) =R EAHT 9H () T 8.4
311[H28FEXK X (BX) BLUhzEEE/l [ 1580K) T 4.5
312[H28FEXK X (BX) BRI AHEET 7H(H) T 8.1
313[H28FEXK X (BX) BRI AHEET 17H(R) T 8.4
314[H28 =K X (BX) HAN A =ZH] 29H (N) T 5.9
315[H28F K X (BX) A= 158 (N) & 5.2
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BREETREDHHERERR GHREXLF1—L1) 6/6

REHE © FR28F11818 (N) ~Frk285F11830H (k) (B N JLlb/kg)
EgE — o o ®EH : RIERABESET
316|H28FFEEK H5XK (BHX)  [BLLTHAHRET 16H (7k) AR 8.1
NTIHTERIER K (BXK) ERA AR/ \EF T 8H (N) AR 5.4
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